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�X B Zzg A 8zõ LO ŠŠŠŠzzzz Sk6,pÆ (i)

ìX ÑÑÑÑiiiiòòòò XƒÒ5é NEÆn A 8~î LO (ii)

)²)43ðFGNR,~3MŠZg~(X II ZzgWBD ( â1CÒy»‹t ) I ÆŠzWB�XWBD B 8~î LO (iii)

„WBÆÎZÑ]Æ�Z[sX ZZZZqqqq---- ÐÜs B 8~î LO (iv)

8{ð LOVÆ�Z[‚B‚BsX XXXX ËZq-ÎZwÆ (v)
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ÛÛÛÛññññVVVVZZZZzzzzggggµµµµVVVVÆÆÆÆnnnnZZZZ»»»»îîîîìììì((((
(Accounting for Partnership Firms and Companies)

1 L‰Æ˜Z̀ZóÐHÈì? .1

ÆÚƒ~!*.$gì¸XQâ§zlƒ̂ 5 : 3 : 2 ZðÔ"54è GGGEZzgQâ‚ÔŠZg¸ZzgœDvyÃ .2

1 ÆÚƒ~á1XZðZzg"54è GGGE»o«»Úƒ¥xÙX 5 : 3 ZzgQkÆ{Ã"54è GGGEZzgZðä

1 Zq-‚ÔŠZgÆeß3DÆ**xÅ§sŠ3ðYäzZàŠzæ,ŠØX .3

Zzg ` 90,000 ÆÚƒ~o«Ã!*bW�XQy»uât!*nKM 4 : 1 zäZzgT‚ÔŠZg�Zzg .4

{6,6,õÃ‚ÔŠZg¯c*X6,õZLuâñÆîg6, 1/3 ìXQrVäo«Æ ` 70,000

1 Ñc*X
ÛxÅ‚ÄÅŠg»ˆ[Î�X ` 1,00,000

‚ÔŠZg~
ÛxÆ¹ƒäÆz‰ÜäÅL~ZU*PÅ§sŠ3ñ‰‚ÔŠZgÆŒÛnÆ .5

1 agzi**/Z0+gZ`ŠØX

1 ¯]ƒYäzZá‚ÔŠZgÆ{Ã!*¹‚ÔŠZg¾Úƒ~qÝ™D�? .6

Å76,Yg~KX°¥ ` 10 (at par) SÃ¨‰Šg²èÆ_. 4,00,000 â%æELâyÅ)45å HGHä .7

3 g¶ÅZŠZ5qgzfs§jÆ_.™ã¶:
` 3 D ŠgpZ„6,

` 2 D ZÑ¹6,

` 2 D «Z:q6,

` 3 D Wy~Z:q6,
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â8-à calls Zìåîg6,]4h¾æ EZT$ƒZåZzgÓxŠgpZ„+óyÃ7g}‰ZÑ¹™Šb‰XÓx
‰¸«»wÆ‚BWy~»wÅÌZŠZ5™ 6,000 IXZq-¥ƒ®gâ„äTÆ0*k

‰¸ZŠZ5Å@*gõ6,«»wÅg¶ZŠZ7ÅXÑc*äWy~»wÆ 700 Š~XÑc*äTÆ0*k

_Z{«»wÅZŠZ5™Š~XZÑ¹g¶Åzß1!J-vÆZ»î&43ï
EHEHäŠg„îg6,Z0+gZY]™ŠñD

QkÆˆÆZ0+gZY]ZkäZŠðg}ghŠñXZyZ0+gZY]Ã7gZÙ:

ââââ%%%%ææææEEEELLLLââââyyyyÅÅÅÅ))))44445555åååå HHHHGGGGHHHH»»»»`̀̀̀9999

¦¦¦¦gggg¶¶¶¶

(`̀̀̀) 

********xxxxgggg¶¶¶¶

(`̀̀̀)

F ¬¬¬¬]]]] @@@@****ggggõõõõ

8,00,000 **x Z±ðLK¥«»w3M
8,00,000 ……….……….……….

°¥«»w6,zZZ# ` 2 ‰6, 4,00,000)

g¶(
……….. **x J3M
……….. **x ….……….……….……….

……….. Z±ðLK¥«»w3M
……….. ……….……….……….……….

(……….……….……….……….)

……….. **x Z±ðLK¥Šzu~ZzgWy~»w3M
……….. Z±ðLK¥uât

°¥Šzu~ZzgWy~»w ` 3 ‰6, 4,00,000)

6,zZZ#g¶(
……….. **x J3M
……….. **x ….……….……….……….….

……….. Z±ðLK¥Šzu~ZzgWy~»w3M
……….. ……….……….……….……….

……….……….……….……….)

(……….……….……….……….
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1,00,000 Z±ðLK¥iåXvä 2,00,000 °¥Æˆ[Ð ` 10 dÅ)45å HGH»àg”{uât .8

‰ÆaŠgpZZñßwƒNXg¶ÅZŠZ5 97,000 ‰ÆaúZxÐŠgpZZÔXX
qgzfs§jÐƒã¶:

‰ 600 °¥XZq-‰ŠZgTÆ0*k ` 4 °¥ÔZÑ¹Zzg«zWy~»w6, ` 2 ŠgpZ„6,

Ô̧ZÑ¹Åg¶ZŠZ™ä~**»xg;XQkÆ‰‚™a‰Xvä«ZzgWy~»w7â�X
Æ_.‰uâtÃvÅäÅL~Š3�X3ÂVÆâF III Æozw 2013 vZl

3 Ì»gÙX

Ã 2017 �Ñð 1 ÆÚƒ~!*bW¸X 2 : 2 : 1 ZZÔ¸z**ZzgÑc*‚ÔŠZg¸ZzgœDvyÃ .9

Æa 2016-17 âgaÃÈÅYC�X‚w 31 Ñc*Åñ]zZµƒ̂X3DÅÂÁCÙ‚w
¶X*¸&‚w ` 1,40,000 J- 2017 �y 30 Z6,sÐ 1 ¶Zzg ` 5,00,000 
Ûz|#Åg¶

¶XaèÑc*»‡âãzZg_Qk»gCåÔ�ºm&¢AzZÑ 10% ÆŠzgZyo«ÅŠg
Ûz|#Å
ÐÎc*YñÇX 20% åÔtêHŠH�Ñc*Æ3ÂV»Y™äÆao«»ˆ[
Ûz½V6,

Ñc*Åñ]J-QkÆo«Æ{»ˆ[Î�ZzgQkÆ¢zg~gzi**/Z0+gZY]ÙX (a)

3 Zz6,ÆcZ~ªCÙÅˆŠg»Ìˆ[Î�X (b)

Z#ÖZzg»gJ-‚ÔŠZg�ZzgœDvy',Z',',Z',!*bW�X
ÛxÆoxV~',Z',{Æa .10

Åeg (super profits) QrVäÎg2ÃZq-‚ÔŠZg¯c*XZkÑÆa
ÛxÅ‚Ä»Z0+ZiÒŠg
3 ‚wÅyh+Zg~ÅãCŠ6,HY**åXÎg2Æ�áïƒä6,
ÛxÅäÅLøDfs¶:

(`̀̀̀) gggg¶¶¶¶ ZZZZUUUU****PPPP (`̀̀̀) gggg¶¶¶¶ ŠŠŠŠ++++ŠŠŠŠZZZZggggcccc****VVVV

75,000 �~ 90,000 Z#Ö uâñ:
15,000 
Ûo 1,40,000 50,000 »gJ-

30,000 Z6u 20,000 §igz

20,000 ºtŒÛnŠZgZy 25,000 ŒÛn

50,000 × 5,000 ºtŒÛnpZ;y

1,90,000 1,90,000

åX‚Ä~Îg2Æ{ ` 30,000 ‚Ñ:ìXÔeg‚w~
Ûx»Zz‰o« 12% gR,yÅ¬xŠg
»ˆ[Î�X
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ÌßÅ)45å HGHZq-g"5ÿ GJZÃvìXZK�Yf)ŠZg~ÃSäÆavä"yßÍVÆa .11

Å ` 1,80,000 ÆZU*NVZzg ` 10,00,000 g+`}y™ä»êHXväµ54ø LGMEÅ)45å HGHÆ

ÆúnZLfó1Xyh+Zg~7Å7g~ZŠZ5ÆaÌßÅ)45å HGHä ` 7,60,000 Š+ŠZg-VÃ

e#-?ç EEFiYg~KX 9% °e#-?ç EEFÆˆ[Ð ` 100 g¬e$Ð 5%
µ54ø LGMEÅ)45å HGHÆh~

èÃg{!*ÑAŠ+ÆaÌ÷Å)45å HGHÅÂ1V~¢zg~gzi**/Z0+gZY]ÙXZ+ŠgzVÅTyÌ

4 ÙT»ÒpÌßÅ)45å HGHäHX

gZæZzgfZq-
Ûx~‚ÔŠZg¸XQyÆ‚ÔŠZg~Æ3D~tŸ‚Šg`å�oxVÅ„ .12

qgzfs§jÐÅYñÏ:

Ã»ƒäzZá‚wÆa 2017 âga 31 ÆÚƒ~X 4 : 1 gZæÃZzg!*¹ ` 20,000 ¬

ÃQy»uâtå:gZæ 1-4-2016 åTÅ„‚ÔŠZgzVÆŠgxy™Š~ˆX ` 60,000 o«

‚Ñ:ÅŠgÐuâñ6,ÎŠÅZŠZ5ÅYãec¶XœDvy 6% X` 80,000 Zzgf ` 90,000

3M»g™Dz‰Üuâñ6,ÎŠ7Îc*ŠHX (appropriation) F,ç”{

4 ZL»xÃzZãîgÐC�X Z0+gZY]ŠZ4ÙX  ZkÆa¢zg~
$|B-Aö
G

G

ÆÚƒ~œDvy~ 5 : 3 : 2 0*gBÔgðZzg74hé EGI
Ûo¯äzZàZq-
Ûx~‚ÔŠZg�Xz{ .13

ÆÚƒ~„™ä» 2 : 5 : 3 ÃQ,VäWÒ{œDvyÃ 2017 Z6,s 1 „™gì�X

»¾wgm,gz ` 36,000 »ePMäÔ ` 4,000 êHXœDvy3D~QyÅäÅL~

6 »çzR5i}gm,gzªCÙƒg;åXQyÆŠgxyZk6,Z·tƒZ�: ` 12,000 Zzg

HYñÇX ` 76,000 
ÛxÅ‚Ä»Z0+ZiÒŠg (i)

Å¶ÅYñÏX 8% (ÅŠg~ ` 40,000 Z6u)Â!Šg (ii)

ÆŒÛnpZ;yŠúò7™,ÐX ` 900 (iii)

»Šú~åX ` 20,000 çzR5i}» (iv)

6,HŠHX ` 40,000 (»Šz!*g{Z0+ZiÒŠg ` 38,000 uât»g-V)Â!Šg (v)
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ÛxCÙ‚wL¨Ãg$ðGZó**xÆ®Z
ÛZŠÆWÑxÃŠZyŠ¶ÆaWgZxŠ{˜tzZà™(V¯ä»
2017-18 »x™CìXo~(,fƒðWßŠÏÅRÃf‚~gnpƒñ
ÛxätêH�‚w

CÙ‚wL¤/+-ó~vHYñÇZzgZk»ZEw{mîg6,âj1]ñZ¬»ñV 10% Ðo«»

ÆaHYñÇX
qgz!*ÑÆa¢zg~gzi**/Z0+gZY]ÙX (a)

Z+
²-:ö
EXŠzZŠZgÃÌÒyÙX6,qgz!*ÑçA~gzÝeZàˆìX (b)

e#-?ç EEFiYg~KXte#-?ç EEFi)z~‚Ñ:ÇV~ 8%Æ ` 6,00,000 Åg¬e$6, 6% 1FÅ)45å HGHä .14

¸Xe#-?ç EEFzVÆZ̀ZÆa¢zg~gzi**/Z0+gZY]ÙZzgeg‚w» (redeemable) ‡&ÿEL!*ic*!
6 e#-?ç EEFiÆZ̀Z6,"0î EH3Mó»gÙXZL»xÃzZãîg6,Š3�X L

ÃQyÅ 2017 âga 31 ÆÚƒ~œDvy!*bW¸X 2 : 3 ¤/YZzgx‚ÔŠZg¸Zzgz{ .15

6 äÅLøDfs¶:

(`̀̀̀) gggg¶¶¶¶ ZZZZUUUU****PPPP (`̀̀̀) gggg¶¶¶¶ ŠŠŠŠZZZZgggg~~~~ ŠŠŠŠ++++

20,000 ×ŠgJ 80,000 ŒÛnpZ{

55,000 ŒÛnŠZg 50,000 JZzgegZÅ

]D‡uŒÛçV 77,000 ¤/YÆ¸ð»ŒÛn

53,000 2,000 ÆnZOx 28,000 x»ŒÛn

78,000 Z6u 15,000 uât»g~Q@*gmJî-

89,000 uât»g~ 1,50,000 ¤/Y uât:

2,50,000 qg] 2,50,000 1,00,000 x

10,000 œDvy3M

5,00,000 5,00,000

èÃg{!*Ñ@*gõ6,
Ûx¹™Š~ˆXZU*NVÅzß1!ƒˆZzgŠ+ŠZg-VÃ�Šc*ŠHX
264/2 6 C/1



ÆŒÛ¡ZgZyÐŒÛnÅg¶zßw7ƒðX ` 6,000 (a)

¤/YäZL¸ðÆŒÛnÅZŠZ5ÐZ·tHX (b)

ZŠZHŠHX ` 3,000 ÆZq-ŒÛnpZ{ÃZkÆ3DÆåYÆaÜs ` 10,000 (c)

åX ` 8,000 6,8x™Šc*ŠHZzg8ò™äzZá»z ` 1,80,000 qg]Ã (d)

Á(~á1XXƒZZ6u!*¹ 20% )Â!7Ð ` 4,000 xäZ6u»Zq-z (e)

ŒÛnpZƒVÃQyÆ3ÂVÆåpÆ$+áŠ}Šc*ŠHX

ƒZX ßw Áz ` 9,000 uât»g-VÐ (f)

åZzgQyÅZŠZ5xäÅX ` 17,000 zßàya (g)

zßà3@*Ô‚ÔŠZgzVÆuât3DZzgJ3M»gÙX

8 ÆÚƒ~o«„™D¸8iïELfså: 3 : 1 ÃZQZzg›zc*ÅäÅL� 2017 âga 31 .16

ÃÃÃÃZZZZQQQQZZZZzzzzgggg››››zzzzcccc****ÅÅÅÅääääÅÅÅÅLLLL 2017 ââââggggaaaa 31

(`̀̀̀) gggg¶¶¶¶ ZZZZUUUU****PPPP (`̀̀̀) gggg¶¶¶¶ ŠŠŠŠ++++ŠŠŠŠZZZZggggcccc****VVVV

1,40,000 ×ŠgJ 2,20,000 ŒÛnpZ;y

6,50,000 ŒÛ¡ZgZy 1,00,000 5i}»6,Zzi+.$-

tez"ŒÛ¡Zg 1,00,000 uât»g~Q@*gmJî-

6,00,000 50,000 »ZOx 1,20,000 ¾wgm,gz

3,00,000 Z6u 6,00,000 ZQ uât:

5,00,000

uât»gc*V

(` 4,40,000 )!*iZg7

10,00,000 4,00,000 ›zc*

15,40,000 15,40,000

{ÆaÌÈgÃZq-*‚ÔŠZg¯c*X 1/5 Ão«Æ 2017 Z6,s 1 Q,Vä
264/2 7 C/1



ÑñÇX ` 80,000 ÌÈg‚Ä6,ÀÆZL{Æa (a)

ic*Š{HŠHX ` 20,000 Z6u»Z0+ZiÒŠg (b)

ÆzZ‚]ez"ŒÛ2Æîg6,¡Ð,ç
GEŠ™ŠñÐÔ̧ZLå ` 5,000 Zq-ŒÛ¡ZgäTÆ (c)

ÅZŠZ5ÅX ` 4,000 pÆa

â;:ÅŠgÐŠzâ{Å9Z{!*¹¶X ` 6,000 (d)

Æ',Z',uâtÑ**åX 1/5 ÌÈgÃ5
ÛxÆÀuâñ» (e)

Šz!*g{ú”{
Ûx»!*iŠgZ0+Zi{3MÔ‚ÔŠZgzVÆuâñ»3MZzgZiaçLâú”{
ÛxÅä

ÅL»gÙX

cccc****

âga 31 oxV»LZg{™D¸X 20% Zzg 30% Ô50% »ztÔâ*Zzgâê‚ÔŠZg¸Zzg!*nKM

ÃQyÅäÅL8iïELfs¶: 2016

ÃÃÃÃ»»»»zzzzttttÔÔÔÔââââ****ZZZZzzzzggggââââêêêêÅÅÅÅääääÅÅÅÅLLLL 2016 ââââggggaaaa 31

(`̀̀̀) gggg¶¶¶¶ ZZZZUUUU****PPPP (`̀̀̀) gggg¶¶¶¶ ŠŠŠŠ++++ŠŠŠŠZZZZggggcccc****VVVV

8,90,000 ‡ìZU*P 1,40,000 ŒÛnpZ;y

2,00,000 uât»g~ 1,00,000 ¾wgm,gz

1,30,000 Z6u uât:

4,00,000 ŒÛ¡ZgZy 6,00,000 »zt

ez"ŒÛçV» DDDD 5,00,000 â*

3,70,000 30,000 ZOx 15,00,000 4,00,000 âê

1,50,000 J

17,40,000 17,40,000

264/2 8 C/1



èÃg{!*Ñ@*gõÃ»zt§zlƒˆZzgâ*ZzgâêäqgzfsÑîV6,
ÛxÃeßgpp»êH:

HŠHZzg‚Ä~»ztÆ{»Zi+ó
ÛxÃeßgpp ` 60,000 
ÛxÅ‚ÄZ0+ZiÒŠg (a)

zZá‚ÔŠZgzVÆuât3ÂV~™ä»êHŠHX

»Zq-Šú~åX ` 4,000 5i}Æçz2» (b)

HŠHX ` 2,13,000 uât»g-V»!*iZ0+ZiÒŠg (c)

Å
ÛÎŠÏƒðX 10% ‡ìZU*NV6, (d)

ÅZŠZ5JegZÅÆfg)ÅˆZzg!*¹g¶QkÆŒÛn3D~v ` 20,000 »ztÃ (e)

‚Ñ:ÎŠÆ‚BŠz',Z',‚Ñ:ÇV~™**ìX 10% ™Š~ˆÔTÅZŠZ5

!*iZ0+ZiÒŠg3MÔ‚ÔŠZgzV»uât3MZzgWy~ZŠZ5J-»zt»ŒÛn3M»gÙX

Z±ðLK¥iYg~™äÆaŠgpZZ 10,00,000 °¥Æˆ[Ð ` 10 ä Manvet Ltd. .17

8 ÔXXÅZŠZ5øDfs§jÐƒã‰:

6,
')4-ê GGJÆ‚B( ` 1 °¥) ` 4 ŠgpZ„ZzgZÑ¹6,:

°¥ ` 4 «»w6,:

°¥ ` 3 Šzu~zWy~»w6,:

‰ÆaŠgpZZñßwƒNZzgXŠgpZ„àÇyÃÚƒÆZ±gÐZÑ¹™ 15,00,000

Šc*ŠHXŠgpZ„Æz‰ÜŠ~ˆiZZ+g¶Ã«»w6,zZZ#ZÑŠZg¶~�áï™1ŠHXZq-¥ƒ®gä

‰ÅŠgpZ„Š~¶Ô«ZzgŠzu~zWy~»wÅg¶ZŠZ7ÅXQkÆ‰‚ 6,000 Tä

°¥Æˆ[ÐŠz!*g{Yg~ ` 8 ‰ÃåZŠZ5”{ 90% ™a‰X‚”{‰~Ð

HŠHX

qgz!*ÑAŠ+Æa¢zg~gzi**/Z0+gZY]ÙX

264/2 9 C/1



cccc****

S±ðLK¥i)z~ZÑÝ76,Yg~™äÆa 5,00,000 °¥Æˆ[Ð ` 10 ZoÅ)45å HGHä

ŠgpZZÔXX°¥g¶ÅZŠZ5qgzfs§jÆ_.ÅYã¶:

°¥ ` 1 D ŠgpZ„6,

°¥ ` 2 D ZÑ¹6,

°¥ ` 3 D «»w6,

!*¹g¶ D Šzu~zWy~»w6,

‰ÅŠgpZ2VÃšŠ™Šc*ŠHZzg!*¹ 1,00,000 ‰ÆnŠgpZZñßwƒNX 8,00,000

¥iÆZq-¥ 5,000 ŠgpZ„àÇyÃÚ´ãCŠ6,‰ZÑ^™Šb‰XÓx»Bâ8-àIX

7,000 ƒ®gZØuäZÑ¹Zzg»w6,Š~YäzZàg¶ÅZŠZ57ÅXZq-¥ƒ®gñ‚Tä

‰ÆaŠgpZ„Š~¶«ZzgŠzu~zWy~»wÅg¶ÅZŠZ57ÅXŠzu~zWy~»wÆ

` 12 ‰ÃåZŠZ5”{ 8,000 ˆZØuZzgñ‚Æ‰Ã‚™1ŠHX‚”{‰~Ð

Æˆ[ÐŠz!*g{Yg~HŠHXZiuâYg~K‰‰~ZØuÆ‚”{‰�áï¸X

ZoÅ)45å HGHÅÂ1V~qgz!*ÑAŠ+Æa¢zg~gzi**/Z0+gZY]ÙX

B −−−−
8888~~~~îîîî LLLLOOOO

I DDDD ����ŠŠŠŠwwww

))))ââââ1111CCCCÍÍÍÍØØØØZZZZggggzzzzVVVV»»»»‹‹‹‹tttt((((

(Analysis of Financial Statements)

1 SjÍØZg{¯äÆãCŠ~£œÃÒyÙX .18

1 Zq-vÆLŠb‰ŒÛnZzgZi+zZ÷óÆSj»ÍØZg{¯Dƒñ¾§bÅu¤/òâ**YñÇ? .19

264/2 10 C/1



4 qgzfs¥â]Ð»©œDvyÍØZg{»gÙ: .20

2016 ââââggggaaaa 31 2017 ââââggggaaaa 31 ¬¬¬¬]]]]

` 18,00,000 ` 24,00,000 W6,:ÐWæã

25% 15% (% ŠvWæã)W6,:ÐWæã»

50% 60% (% ZyZY])W6,:ÐWæã»

40% 40% LÅŠg

Æ_.ZæzVÃÁÄZ**]Zzgf~ÄZ**]Æ�Š3c* III Æozw 2013 vZl (a) .21

YñÇ?

ÆZOâ] (benefits) Z¬] % 5i}Å (i)

!»B (ii)

4 â1CÍØZgzVÆ‹bÅ²-:ö
EXŠzæzV»ÒyÙX (b)

Ã»ƒäzZá‚wÆa 2017 âga 31 ù¦o«¾c*X 25% ËväÑ†6, (a) .22

åÔ§igzZzgu&ÒøF
` 10,00,000 åXv»S±ðLK¥uât ` 5,00,000 Qk»ù¦o«

Æ¸X ` 10,00,000 åZzg**y™.$ZU*P ` 3,00,000 åÔîsæCŒÛn ` 2,00,000

vÆzgåãR,yZzËgÆÚƒ»ˆ[Î�X

;eß ` 4,00,000 åXQkÆeßZU*P ` 1,00,000 zZðÅ)45å HGH»ÎŠZzgLÆˆ{Øo« (b)

åX ` 4,00,000 îsæCŒÛn 10% Zzg ` 6,00,000 ;‡ìZU*P ` 2,00,000 Š+ŠZgc*V

¶X 20% LÅŠg

4 zZðÅ)45å HGHÅuât»g~6,§R,y»ˆ[Î�X
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6 ÃñZ7-Å)45å HGHÅäÅL8iïELfs¶: 2017 âga 31 .23

ññññZZZZ7777----ÅÅÅÅ))))44445555åååå HHHHGGGGHHHH

2017 ââââggggaaaa 31 ääääÅÅÅÅLLLLCCCCggggõõõõ

2016 ââââggggaaaa 31

(`̀̀̀) 

2017 ââââggggaaaa 31

(`̀̀̀)

ââââ^̂̂̂

����

¬¬¬¬]]]]

ZZZZ±±±±ððððLLLLKKKKZZZZzzzzggggŠŠŠŠ++++ŠŠŠŠZZZZggggcccc****VVVV .I

‰ŠZgzV»- (1)

1,00,000 3,00,000 ‰uât (a)

1,20,000 25,000 1 §igzZzgu&ÒøF (b)

**y™.$Š+ŠZgc*V (2)

60,000 80,000 2 îsæCŒÛ2

eßŠ+ŠZgc*V (3)

20,000 6,000 »gz!*g~Š+ŠZg (a)

70,000 68,000 3 ¾æCZOâ] (b)

3,70,000 4,79,000 ®®®®ÿÿÿÿ
NNNN

ZZZZUUUU****PPPP:::: .II

1,92,000 3,36,000 4 ‡ìZU*P (1)

eßZU*P (2)

60,000 67,000 ZâÚm, (a)

65,000 51,000 »gz!*g~‡&ÿELzßwģx (b)

49,000 25,000 ×Zzg×Æ)z~q, (c)

4,000 - ŠveßZU*P (d)

3,70,000 4,79,000 ®®®®ÿÿÿÿ NNNN
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3333MMMMŠŠŠŠZZZZgggg~~~~ÆÆÆÆââââFFFF::::

2016 ââââggggaaaa 31

(`̀̀̀) 

2017 ââââggggaaaa 31

(`̀̀̀)

¬¬¬¬]]]]

§igzZzgu&ÒøF .1

1,20,000 25,000 u&ÒøFªÍØZgÒœDvy~’c*

1,20,000 25,000

îsæCŒÛ2 .2

60,000 80,000 îsæCŒÛ£ 10%

60,000 80,000

¾æCZOâ] .3

70,000 68,000 L»ZOx

70,000 68,000

‡ìZU*P .4

2,15,000 3,84,000 �~

(23,000) (48,000) ¦”{
ÛÎŠÏ

1,92,000 3,36,000

ZZZZŸŸŸŸ°°°°¥¥¥¥ââââ]]]]::::

Ã1ŠHåX 2016 �Ñð 1 ZŸ†ŒÛ£ (i)

LZŠZHŠHX ` 53,000 ŠzgZÈ‚w (ii)

SjÍØZg{»g<X
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B −−−−
8888~~~~îîîî LLLLOOOO

II DDDD ����ŠŠŠŠwwww

))))ÛÛÛÛRRRR,,,,ZZZẐ^̂̂,,,,eeeeZZZZ»»»»îîîîìììì((((
(Computerised Accounting)

1 ó‚iÇgIwYVì? Report Wizard ZEw™äzZáem,ZIzVÆaL MS Access .18

1 óeðä»HÈì? Front EndL Z˜b .19

4 ÅZ˜q]ÅzŸs#ÙX (Data Vault) L0*kzgejgKóZzgLeðzZ«ó .20

4 ìi^Zñ~ç^»HÈì?t
\.5ÿ
L

FZñ~ç^Ð¾§bZì? .21

Z+
²-:ö
EXegÑZ_Æ!*g}~C�X6,LelN*\eðäóZzgLaç MzgeðäóÆŠgxyZN[ .22

4 ™äÆa…Îä»ê™äÐ¬¨g™**ecX

Æ(transport) ~yh+~XväÞZzgeyð ` 4,35,000
'+<é GXZ&+7m,äZq-ZI_5ë LEYá .23

‚wÆ»ƒä6,áÅ`ƒð7 5 ZŠZKXt
Ûn™DƒñÆ ` 45,000 ZyZY]ÆZz6,

Ð Straight Line Method ìÔZ*ZöZ&½hÿ G~ÃgñßV»ZEw™Dƒñ ` 2,00,000

6 Šg»ˆ[Î�X  
ÛÎŠÏZzgQkÅ

__________
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
ACCOUNTANCY 

 
        80

Time allowed : 3 hours Maximum Marks : 80 
 
 

 Series : SGN/C  .
Code No.  67/2

       -    24   

 -            -  -    

       -  23    

         ,       

  -     15        -     10.15 
    10.15   10.30     -       
  -       

 Please check that this question paper contains 24 printed pages.  

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 23 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 
 

SET – 2 
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  
 (i)  -      –     
 (ii)  –          
 (iii)  –      –          
 (iv)  –             
 (v)                
General Instructions : 

 (i) This question paper contains two parts A and B.  

 (ii) Part A is compulsory for all. 

 (iii) Part B has two options : Option – I Analysis of Financial Statements and Option – II 
Computerized Accounting. 

 (iv) Attempt only one option of Part B. 

 (v) All parts of a question should be attempted at one place. 

 –   
PART – A 

 

(      ) 

(Accounting for Partnership Firms and Companies) 
 

1.  ‘   ’     ?  1  

 What is meant by ‘Private Placement of Shares’ ? 

 

2.  ,   ,        5 : 3 : 2         

           5 : 3         

         1 

 Aman, Yatin and Uma were partners and were sharing profits and losses in the ratio of  

5 : 3 : 2. Uma retired and her share was taken over by Aman and Yatin 5 : 3 in ratio. 

Calculate the gaining ratio of Aman and Yatin. 

 

3.                   1 

 Give two items which may appear on the debit side of a Partner’s Current Account. 
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4.       4 : 1               

` 90,000  ` 70,000      1/3             

     ` 1,00,000               1  

 Vinay and Naman are partners sharing profit in the ratio of 4:1. Their capitals were                    

` 90,000 and ` 70,000 respectively. They admitted Prateek for 1/3 share in the profits. 

Prateek brought ` 1,00,000 as his capital. Calculate the value of firm’s goodwill.   

 

5.        -            

     1  

 Give the journal entry for the treatment of partner’s loan appearing on the asset side of 

the Balance Sheet, on dissolution of a partnership firm. 

 

6.                ?  1  

 In which ratio do the remaining partners acquire the share of the deceased partner ? 

 

7.     ` 10   4,00,000    -      

          3 

    – ` 3 

    – ` 2 

       ` 2 

      ` 3 

                    

     6,000      ,    ,    

     ,   700             

                    

               

           
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( .  ) 

      (`)   (`) 

         8,00,000  

  ……….……….……….   8,00,000 

 (4,00,000   ` 2      

  ) 

   

         ………..  

  ….……….……….……….    ………..  

        ……….. 

 ……….……….……….………. 

(……….……….……….……….) 

  ……….. 

          ………..  

        ……….. 

 (4,00,000   ` 3      
  ) 

   

         ………..  

 ……….……….……….……….   ………..  

          ……….. 

  ……….……….……….……….   ……….. 

 (……….……….……….………. 

……….……….……….……….) 

   

 Navnirman Ltd. issued 4,00,000 equity shares of ` 10 each at par. The amount per 

share was payable as follows : 

 ` 3 on application; ` 2 on allotment; ` 2 on first call and ` 3 on final call. The issue 

was fully subscribed and the shares were allotted fully to all the applicants. All calls 

were made. Mahi, a shareholder holding 6,000 shares paid the final call money along 

with the first call. Shrey holding 700 shares did not pay the first call on the due date. 

Shrey paid the first call along with the final call. The accountant of the company had 

correctly passed the entries till receipt of allotment money. After that the following 

entries were left incomplete by him. Complete these entries. 
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Journal of Navnirman Ltd.  

Date Particulars 

  

F Dr. 

Amount (`) 

Cr. 

Amount (`) 

 Equity Share first call A/c.        Dr.   8,00,000  

 To …………………………    8,00,000 

 (Being first call due on 4,00,000 shares @ ` 2 
per share) 

   

 Bank A/c Dr.  ………..  

 ……….……….……….……….  Dr.  ………..  

 To Equity Share first call A/c   ……….. 

 To ……….……….……….……….   ……….. 

 (……………………………………)    

 Equity Share second and final call A/c.   Dr. 

To Equity Share Capital A/c 

(Being final call due on 4,00,000 shares @ ` 3 
per share) 

 ………..              

……….. 

 Bank A/c.  Dr. 

………………….  Dr. 

 ……….. 

……….. 

 

 To Equity Share second and final call A/c. 

To ………………….. 

(………………………………………) 

  ……….. 

……….. 

 

8.       ` 10   2,00,000       1,00,000  
         97,000          
      -   ` 2  ,       
  ` 4       600    ,        
                  

   , 2013   III        -  
          3 
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 Janta Ltd. had an authorized capital of 2,00,000 equity shares of  ` 10 each. The 

company offered to the public for subscription 1,00,000 shares. Applications were 

received for 97,000 shares. The amount was payable as follows on application was  

` 2 per share, ` 4 was payable each on allotment and first and final call. A shareholder 

holding 600 shares failed to pay the allotment money. His shares were forfeited. The 

company did not make the first and final call.  

 Present the share capital in the Balance Sheet of the company as per Schedule III of 

the Companies Act, 2013. Also prepare Notes to accounts. 

 

9. ,       2 : 2 : 1    -    1 , 2017 

           31        2016 -17    

   ` 5,00,000   1   30 , 2017  ` 1,40,000      

      10%           ,  

     ,                

   20%      

 ()                  

    

 ()          ,      3 

 Ajay, Bhawna and Shreya were partners sharing profits in the ratio 2:2:1. On July 1, 

2017 Shreya died. The books of accounts are closed on March 31 every year. Sales for 

the year 2016-17 amounted to ` 5,00,000 and that from 1st April to 30th June 2017 

were ` 1,40,000. The rate of profit during the past three years had been 10% on sales. 

Since Shreya’s legal representative was her only son, who is specially abled, it was 

decided that the profit for the purpose of settling Shreya’s account is to be calculated 

as 20% on sales. 

 (a) Calculate Shreya’s share of profits till the date of her death and pass necessary a 

journal entry for the same. 

 (b) Also, state the value highlighted in the above para.  
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10.        - -           

                   

            3 

         –        

  (`)   (`) 

    75,000 

  – 90,000   15,000 

  – 50,000 1,40,000  30,000 

 20,000   20,000 

 25,000  50,000 

  5,000   

 1,90,000  1,90,000 

        12%            ` 30,000  

            

 Amit and Kartik are partners sharing profits and losses equally. They decided to admit 

Saurabh for an equal share in the profits. For this purpose the goodwill of the firm was 

to be valued at four years’ purchase of super profits. 

 The Balance Sheet of the firm on Saurabh’s admission was as follows : 

Liabilities Amount(`) Assets Amount(`) 

Capitals :  Machinery 75,000 

Amit  90,000  Furniture 15,000 

Kartik  50,000 1,40,000 Stock 30,000 

Reserve 20,000 Sundry Debtors 20,000 

Loan 25,000 Cash 50,000 

Sundry Creditors 5,000   

 1,90,000  1,90,000 

 The normal rate of return is 12% per annum. Average profit of the firm for the last 

four years was ` 30,000. Calculate Saurabh’s share of goodwill.   
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11.                 

                  

` 10,00,000    ` 1,80,000     ` 7,60,000     

             ` 100   9%   

 5%     

                

             4 

 Venus Ltd., is a real estate company. To discharge its corporate Social Responsibility, 

it decided to construct a night shelter for the homeless. The company took over assets 

of ` 10,00,000 and liabilities of ` 1,80,000 of Cayns Ltd. for ` 7,60,000. Venus Ltd.. 

issued 9% Debentures of ` 100 each at a discount of 5% in full satisfaction of the 

purchase consideration in favour of Cayns Ltd.  

 Pass necessary journal entries in the books of Venus Ltd. for the above transactions. 

Also identify the value observed by Venus Ltd.  

 

12.                    

     : 

  ` 20,000     4 : 1     31 , 2017       

 ` 60,000 ,          01-04-2016    

,  - ` 90,000   ` 80,000  6%          

   -             

                 4 

 Rajiv and Sanjeev were partners in a firm. Their partnership deed provided that the 

profits shall be divided as follows : 

 First ` 20,000 to Rajeev and the balance in the ratio of 4 : 1. The profits for the year 

ended 31st March, 2017 were ` 60,000 which had been distributed among the partners. 

On 1-4-2016 their capitals were Rajeev ` 90,000 and Sanjeev ` 80,000. Interest on 

capital was to be provided @ 6% p.a. While preparing the profit and loss appropriation 

interest on capital was omitted.  

 Pass necessary rectifying entry for the same. Show your workings clearly.  
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13. ,              5 : 3 : 2    - 
      1 , 2017    -  2 : 5 : 3     
     - -   ` 4,000   , ` 36,000  
    ` 12,000              – 6 

 (i)      ` 76,000    

 (ii)   (` 40,000  ) 8%      

 (iii) ` 900       

 (iv)    ` 20,000     

 (v)   (` 38,000  ) ` 40,000      

      ‘  ’           
                     2017-18  
      10%, ‘ ’        
   --       

 ()         

 ()                   

 Parth, Raman and Zaisha are partners in a firm manufacturing furniture. They have 
been sharing profits and losses in the ratio of 5 : 3 : 2. From 1st April, 2017 they 
decided to share future profits and losses in the ratio of 2 : 5 : 3. Their Balance Sheet 
showed a debit balance of ` 4,000 in Profit & Loss Account; balance of ` 36,000 in 
General Reserve and a Balance of ` 12,000 in Workmen’s Compensation Reserve. It 
was agreed that – 

 (i) The goodwill of the firm be valued at ` 76,000. 

 (ii) The Stock (book value of ` 40,000) was to be depreciated by 8%. 

 (iii) Creditors amounting to ` 900 were not likely to be claimed. 

 (iv) Claim on account of Workmen’s Compensation amounted to ` 20,000. 

 (v) Investments (book value ` 38,000) were revalued at ` 40,000. 

 The firm manufactures comfortable rocking chairs for donating to ‘Kareforyou’ an Old 
Age Home every year. Taking cognizance of the rising pollution levels in the country, 
the firm has decided to transfer 10% of the profits every year to ‘Green Fund’ 
primarily used for environment friendly activities starting from the year 2017-18. 

 (a) Pass necessary Journal entries for the above. 

 (b) Also state any two values highlighted in the above case. 



67/2 10 C/1 

14.    ` 6,00,000  8%   6%         -
                
    ‘   ’            6 

 Boots Ltd. issued ` 6,00,000, 8% Debentures at a discount of 6%. The debentures 
were redeemable in four equal annual instalments. Pass necessary journal entries for 
issue of debentures and prepare ‘Discount on issue of debentures Account’ for four 
years. Show your workings clearly. 

 

15.       2 : 3    -    31 , 2017   
-    : 6 

   (`)   (`) 
 80,000    20,000 

  50,000   55,000  

     77,000  –          2,000 53,000 

   28,000  78,000 

 -  15,000  89,000 

 :   2,50,000 

  1,50,000  -  10,000 

  1,00,000 2,50,000   

 5,00,000  5,00,000 

                          
         

 () ` 6,000         

 ()               

 () ` 10,000           ` 3,000      

 ()   ` 1,80,000          ` 8,000   

 ()       ` 4,000 (    20%  )      
               

 ()   ` 9,000     

 ()   ` 17,000         

  ,           
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 Girija and Ganesh were partners in a firm sharing, profits and losses in the ratio of  

2 : 3. On 31st March, 2017 their Balance Sheet was as follows :  

Liabilities Amount 

(`) 

Assets Amount 

(`) 

Creditors 80,000 Cash at Bank 20,000 

Bank Overdraft 50,000 Debtors 55,000  

Girija’s Brother’s loan 

Ganesh’s loan 

77,000 

28,000 

Less: Provision for  

          doubtful  debts      2,000 

 

53,000 

Investment Fluctuation Fund 15,000 Stock 78,000 

Capitals :  Investments 89,000 

  Girija   1,50,000  Buildings 2,50,000 

  Ganesh  1,00,000 2,50,000 Profit and Loss A/c. 10,000 

 5,00,000  5,00,000 

 On the above date the firm was dissolved. The assets were realized and the liabilities 

were paid off as follows : 

 (a) Debtors of ` 6,000 were proved bad. 

 (b) Girija agreed to pay off her brother’s Loan. 

 (c) One of the creditors for ` 10,000 was paid only ` 3,000 in full settlement of his 

account. 

 (d) Buildings were auctioned for ` 1,80,000 and the auctioneer’s commission 

amounted to ` 8,000. 

 (e) Ganesh took over part of stock at ` 4,000 (being 20% less than the book value). 

Balance of the Stock was handed over to the remaining creditors in full 

settlement of their account. 

 (f) Investments realized ` 9,000 less. 

 (g) Realisation expenses amounted to ` 17,000 and were paid by Ganesh. 

 Prepare Realisation Account, Partners’ Capital Accounts and Bank Account.  
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16. 31 , 2017      -,  3 : 1      ,  

   :    8 

31 , 2017      - 

 
 

(`) 

 
 

(`) 

 2,20,000    1,40,000 

    1,00,000        6,50,000  

 -  

  

1,00,000 

1,20,000 

 :   

                50,000 

          

6,00,000 

 :   3,00,000 

   :  6,00,000 

  : 4,00,000 

             

10,00,000 

 (  ` 4,40,000) 5,00,000 

  15,40,000  15,40,000 

 1 , 2017   1/5           

 ()         ` 80,000   

 ()    ` 20,000     

 ()      ` 5,000 ,           

 ,     ` 4,000     

 () ` 6,000             

 ()        1/5       

   ,         -    

 
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 ,        50%, 30%  20%       31 

, 2016,   -     

31 , 2016   ,     - 

   (`)   (`) 

 1,40,000   8,90,000 

  1,00,000  2,00,000 

    1,30,000 

  6,00,000    4,00,000  

  5,00,000 

  4,00,000 

 

15,00,000 

 –      

                   30,000 

 

3,70,000 

   1,50,000 

 17,40,000  17,40,000 

                    

     

 ()      ` 60,000           

                

 ()    ` 4,000      

 ()    ` 2,13,000    

 ()    10%     

 ()   ` 20,000              

     ;        10%    

    

   ,              

  
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 On 31st March 2017, the Balance Sheet of Abhir and Divya, who were sharing profits 

in the ratio of 3 : 1 was as follows : 

Balance Sheet of Abhir and Divya as on 31st March 2017 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors 2,20,000 Cash at Bank 1,40,000 

Employees’ Provident Fund 1,00,000 Debtors      6,50,000  

Investment Fluctuation Fund 

General Reserve 

1,00,000 

1,20,000 

Less Provision  

for bad debts               50,000 

         

6,00,000 

Capitals :  Stock 3,00,000 

  Abhir :  6,00,000 

 Divya : 4,00,000 

            

10,00,000 

Investments (market value  

` 4,40,000) 

5,00,000 

  15,40,000  15,40,000 

 They decided to admit Vibhor on April 1, 2017 for 1/5th share. 

 (a) Vibhor shall bring ` 80,000 as his share of goodwill premium. 

 (b) Stock was overvalued by ` 20,000. 

 (c) A debtors whose dues of ` 5,000 were written off as bad debts, paid ` 4,000 in 

full settlement. 

 (d) Two months salary @ ` 6,000 per month was outstanding. 

 (e) Vibhor was to bring in Capital to the extent of 1/5th of the total capital of the new 

firm. 

 Prepare Revaluation A/c, Partners’ Capital A/c and the Balance Sheet of the 

reconstituted firm. 

OR 
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 Kavya, Manya and Navita were partners sharing profits as 50%, 30% and 20% 

respectively. On march 31, 2016, their Balance Sheet stood as follows : 

Balance Sheet of Kavya, Manya and Navita as at March 31, 2016. 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Creditors 1,40,000 Fixed Assets 8,90,000 

General Reserve 1,00,000 Investments 2,00,000 

Capitals :  Stock 1,30,000 

  Kavya  6,00,000  Debtors  4,00,000  

  Manya  5,00,000 

  Navita  4,00,000 

     

15,00,000 

Less – Provision for  

            bad debts       30,000 

 

3,70,000 

  Bank 1,50,000 

 17,40,000  17,40,000 

 On the above date, Kavya retired and Manya and Navita agreed to continue the 

business on the following terms : 

 (a) Firm’s goodwill was valued at ` 60,000 and it was decided to adjust Kavya’s 

share of goodwill in the capital accounts of continuing partners. 

 (b) There was a claim for workmen’s compensation to the extent of ` 4,000. 

 (c) Investments were revalued at ` 2,13,000. 

 (d) Fixed Assets were to be depreciated by 10%. 

 (e) Kavya was to be paid ` 20,000 through a bank draft and the balance was 

transferred to her loan account which will be paid in two equal annual 

instalments together with interest @ 10% p.a. 

  Prepare Revaluation A/c, Partner’s Capital accounts and Kavya’s Loan Account 

till it is finally paid. 
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17.    ` 10   10,00,000          

           8 

     : ` 4   (` 1  ) 

    : ` 4   

      : ` 3      

  15,00,000              
                   

,  6,000      ,        
                  90%   ` 8 

          

               

 

    ` 10   5,00,000          
              

   – ` 1    

   – ` 2     

    - ` 3   

      –  

  8,00,000        1,00,000         
                 

                   
5,000                  

 ,  7,000      ,       
                   

           8000   ` 12       
                 

               
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 Manvet Ltd. invited applications for issuing 10,00,000 equity shares of ` 10 each 

payable as follows : 

 On application and allotment ` 4 per share (including premium ` 1) 

 On first call ` 4 per share, 

 On second and final call ` 3 per share. 

 Applications for 15,00,000 shares were received and pro-rata allotment was made to 

all the applicants. Excess application money was adjusted on the sums due on calls. A 

shareholder who had applied for 6,000 shares did not pay the first, and the second and 

final call. His shares were forfeited. 90% of the forfeited shares were reissued at ` 8 

per share fully paid up.  

 Pass necessary journal entries for the above transactions in the books of the company. 

OR 

 X Ltd. invited applications for issuing 5,00,000 equity shares of ` 10 each at par. The 

amount per share was payable as follows : 

 On Application ` 1 per share 

 On Allotment ` 2 per share 

 On First call ` 3 per share 

 On Second and Final call – Balance. 

  Applications for 8,00,000 shares were received. Applications for 1,00,000 shares 

were rejected and pro-rata allotment was made to the remaining applicants. Excess 

money received with applications was adjusted towards sums due on allotment. All 

calls were made. Ashok a shareholder holding 5000 shares failed to pay the allotment 

and the call money. Mohan, a shareholder who had applied for 7000 shares, failed to 

pay the first and second and final call. Shares of Ashok and Mohan were forfeited after 

the second and final call. Of the forfeited shares 8000 shares were re-issued at ` 12 per 

share fully paid up. The re-issued shares included all the forfeited shares of Ashok. 

  Pass necessary journal entries for the above transactions in the books of X Ltd.  
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 –  

 – I 

(   ) 

PART – B 

OPTION – I 

Analysis of Financial Statements 
 

18.            1 

 State the primary objective of preparing the Cash Flow Statement. 

 

19.    ‘    ’           

  ?   1 

 ‘Loans and advances granted’ by a company will be considered, as which type of 

activity while preparing Cash Flow Statement. 

 

20.     -     4  

 31  2017 31  2016 

  ` 24,00,000 ` 18,00,000 

  (  %) 15% 25% 

 (  %) 60% 50% 

  40% 40% 

 From the following information, prepare a Comparative Statement of Profit and Loss :  

Particulars 31st March, 2017 31st March, 2016 

Revenue from operations `  24,00,000 ` 18,00,000 

Other incomes (% of revenue from operations) 15% 25% 

Expenses (% of revenue from operations) 60% 50% 

Tax rate 40% 40% 
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21. ()  , 2013   III       -  -

     ? 4 

  (i)       

  (ii)   

 () ‘   ’          

 (a) Under which major headings and sub-heading will the following items be shown 

in the Balance Sheet of a company as per Schedule III of Companies Act, 2013 ? 

  (i) Provision for employee benefits. 

  (ii) Calls in advance. 

 (b) State any two limitations of ‘Analysis of Financial Statements’. 

    

22. ()     25%       31 , 2017     
      ` 5,00,000        ` 10,00,000; 

   ` 2,00,000;   ` 3,00,000     
` 10,00,000   

     ‘   ’     4 

 ()           ` 1,00,000       
` 4,00,000;   ` 2,00,000;   ` 6,00,000  10%  
 ` 4,00,000     20%   

      ‘  ’     

 (a) A company earns Gross profit of 25% on cost. For the year ended 31st March, 

2017 its Gross Profit was ` 5,00,000; Equity Share Capital of the company was  

` 10,00,000; Reserves and Surplus ` 2,00,000; Long Term Loan ` 3,00,000 and 

Non Current Assets were ` 10,00,000. 

   Compute the ‘Working capital turnover ratio’ of the company. 

 (b) Y Ltd’s profits after interest and tax was ` 1,00,000. Its Current Assets were  

` 4,00,000; Current Liabilities ` 2,00,000; Fixed Assets ` 6,00,000 and 10% 

Long term debt ` 4,00,000. The rate of tax was 20%. 

  Calculate ‘Return on Investment’ of Y Ltd. 
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23. 31 , 2017     -       6  

  

31  2017  - 

  . 31 , 2017 

(`) 

31 , 2016 

(`) 

I    :    

1.      

()   

()    

 

1 

3,00,000 

25,000 

1,00,000 

1,20,000 

2.      

  2 80,000 60,000 

3.       

()    6,000 20,000 

()   3 68,000 70,000 

  4,79,000 3,70,000 

II.     

1.   

  

2.    

 

4 

 

3,36,000 

 

1,92,000 

()   ()  67,000 60,000 

()    51,000 65,000 

()      25,000 49,000 

()      – 4,000 

  4,79,000 3,70,000 
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      

 
. 

 31 , 2017 
(`) 

31 , 2016 
(`) 

1.      

 ( – -    ) 25,000 1,20,000 

  25,000 1,20,000 

2.    

10%   

 

80,000 

 

60,000 

  80,000 60,000 

3.    

  

 

68,000 

 

70,000 

  68,000 70,000 

4.    

 

 

3,84,000 

 

2,15,000 

  ()  (48,000) (23,000) 

  3,36,000 1,92,000 

    

 (i)   1 , 2016     

 (ii)   ` 53,000       

       
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 Following is the Balance Sheet of Mevanca Limited as at 31st March, 2017 

Mevanca Ltd. 

Balance Sheet as at 31st March, 2017 

Particulars Note 

No. 

31st 

March, 
2017  

(`) 

31st 

March, 
2016  

(`) 

I Equity and Liabilities    

 1. Shareholder’s Funds    

  (a)  Share Capital 

  (b)  Reserves and Surplus 

 

1 

3,00,000 

25,000 

1,00,000 

1,20,000 

 2. Non-Current Liabilities    

  Long-term Borrowings 2 80,000 60,000 

 3. Current Liabilities    

 (a)  Trade Payables  6,000 20,000 

 (b)  Short-term Provisions 3 68,000 70,000 

Total :  4,79,000 3,70,000 

II.  Assets    

 1.  Non-Current Assets 

  Fixed Assets 

 2.  Current Assets 

              

4 

 

3,36,000 

 

1,92,000 

  (a)  Inventories  67,000 60,000 

  (b)  Trade Receivables  51,000 65,000 

  (c)  Cash and Cash Equivalents  25,000 49,000 

  (d)  Other Current Assets  – 4,000 

Total :  4,79,000 3,70,000 
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 Notes to Accounts 

Particulars 31 March, 
2017 (`) 

31 March, 
2016 (`) 

1. Reserves and Surplus   

 Surplus i.e., Balance in Statement of 
Profit & Loss 

                     
25,000 

               
1,20,000 

 25,000 1,20,000 

2. Long-term Borrowings   

 10% Long term Loan 80,000 60,000 

  80,000 60,000 

3. Short-term Provisions   

 Provision for Tax 68,000 70,000 

 68,000 70,000 

4. Fixed Assets   

 Machinery 3,84,000 2,15,000 

 Accumulated Depreciation (48,000) (23,000) 

 3,36,000 1,92,000 

 Additional Information : 

 (i) Additional loan was taken on 1st July, 2016. 

 (ii) Tax of ` 53,000 was paid during the year. 

  Prepare Cash Flow Statement. 
 

( – II) 

( ) 
OPTION – II 

Computerised Accounting  
 

18.   ()       (MS Access)     ‘ 
’ (Report Wizard)      ? 1 

 Why is ‘Report Wizard’ a favourable tool for designers using MS Access ? 

 

19.   (Front End)       ? 1 

 What is meant by the term ‘Front End’ database ? 
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20. ‘ ’ (Password Security)  ‘ ’ (Data Vault)     4 

 Explain the terms ‘Password Security’ and ‘Data Vault’. 

 

21.       ?         ? 4 

 What is meant by composite attribute ? How is it different from simple attribute ?  

 

22.         ‘ ’  ‘ ’   

            4 

 State any four requirements which should be considered before making an investing 

decision to choose between ‘Desktop database’ or ‘Server database’. 

 

23.           ` 4,35,000       

      ` 45,000         5      

     ` 2,00,000 ,            

           6 

 Yamaha industries purchased an embossing machine for ` 4,35,000. They paid  

s` 45,000 as installation and transport expenses. Assuming that the salvage value of 

machine at the end of 5 years is ` 2,00,000, calculate depreciation by Straight Line 

Method & its Rate, using formulas in MS excel. 

_____________ 

     


